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NEW QUESTION 1
An organization is running a fitness program. They want to identify a Fitness Representative who will be responsible for a group of people in the organization. How
should you set this up?

A. Create a new job Fitness Representative and associate that to the person.
B. Define the person’s area of responsibility to reflect Fitness Representative.
C. Deploy a Descriptive Flexfield to capture the information.

D. Deploy a Key Flexfield to capture the information.

Answer: B

NEW QUESTION 2
An organization wants to include a security profile in an HCM data role and then provision the data role to a user.
Identify the option which lists the HCM object types for which the security profiles can be created.

A. Person, Organization, Position, Legislative Data Group, Location, Grade, Document Type, Payroll, Payroll Flow

B. Person, Organization, Position, Legislative Data Group, Location, Grade, Document Type, Payroll, Payroll Flow, Workforce Business Process

C. Person, Organization, Position, Legislative Data Group, Country, Grade, Document Type, Payroll, Payroll Flow, Workforce Business Process

D. Person, Organization, Position, Legislative Data Group, Country, Document Type, Payroll, Payroll Flow, Payroll Flow, Workforce Business Process

Answer: D

NEW QUESTION 3

A client requires that promotion approvals should go to a static set of three users in a sequential manner, with the approval process continuing to the next user if
the prior approver is not available.

What setup is required to meet this requirement?

A. While configuring Approval Group List Builder, select “Allow empty groups” as True.

B. All approvers must be present in the system; else, the promotion transaction fails.

C. While configuring Approval Group List Builder, select “Allow empty groups” as False.

D. The default functionality is that if any approver is not present, then the transaction gets auto-approved.

E. Enable a descriptive flex field to capture the approves in the required sequence and create Approval Group List Builder.

Answer: C

NEW QUESTION 4
Which two statements are true about Action and Action Reasons? (Choose two.)

A. There is always a one-to-one relationship between Action Type and Action.

B. It is mandatory to associate Actions with Action Reasons.

C. The history of effective date changes can be tracked well by using the Actions framework.

D. Terminations predictive analytics uses Actions and Reasons data to identify whether a termination is voluntary or involuntary.

Answer: CD

NEW QUESTION 5

Action Type identifies the type of business process associated with an action and determines what happens when you select that Action. As part of implementing
Oracle Global Human Resources Cloud, Action Types are associated with Actions.

Which two statements are correct regarding Action types? (Choose two.)

A. Additional Action types can be created.

B. An Action type cannot be associated with user-defined actions.
C. Action types are seeded.

D. Every Action type can have multiple actions within it.

E. If Termination is an action, Normal Termination is an action type.

Answer: CD

NEW QUESTION 6
As an employee within an organization you access your Public Information/Spotlight page within the Directory.
What updates are you allowed to directly make on this page that all users with access to your Public Spotlight will be able to view?

A. Update area of expertise, area of interest, contact information, profile photo, public message, and HR Representative Information.
B. Update about me, area of expertise, area of interest, contact information, profile photo, public message, and peer information.

C. Update about me, area of expertise, area of interest, contact information, profile photo, public message, and background photo.
D. Update home address, area of interest, contact information, profile photo, public message, and background photo.

Answer: A

NEW QUESTION 7

Which option represents the basis on which approval routing policies can be defined?

A. Employee Supervisor Hierarchy, Position Hierarchy, Job Levels, Approval Groups, Organization Hierarchy

B. Employee Supervisor Hierarchy, Position Hierarchy, Job Levels
C. Employee Supervisor Hierarchy, Position Hierarchy, Job Levels, Approval Groups

The Leader of IT Certification visit - https://www.certleader.com



CertLeadera 100% Valid and Newest Version 1z0-1046 Questions & Answers shared by Certleader

Toader of IT Cortifications https://www.certleader.com/1z0-1046-dumps.html (98 Q&AS)

D. Employee Supervisor Hierarchy, Position Hierarchy, Grades, Approval Groups, Organization Hierarchy

Answer: C

NEW QUESTION 8

An HR Representative enters the employee details in the application as part of hiring process. In the Roles tab, the HR Representative sees that an appropriate
data role is already available with the provisioning method of Automatic. The employee is required to be associated with an additional role of Compensation
Specialist. However, on clicking the Add Role button available in the same page the HR Representative is unable to retrieve any roles which can be added.
Identify the cause of this.

A. The HR Representative does not have the appropriate role at add the role.

B. Appropriate role mapping rules are not defined for the Data role with Self-requestable check box checked.
C. Appropriate role mapping rules are not defined for the Data role with Requestable check box checked.

D. Appropriate role mapping rules are not defined for the Data role with Autoprovision check box checked.

Answer: C

NEW QUESTION 9
You are configuring Enterprise Onboarding Checklists and need to ¢ to new hires during onboarding by line managers and HR specialists.
Which Checklist enhancement supports this requirement?

A. Checklist Category
B. Checklist Validity

C. Checklist Completion
D. Task Library

Answer: C

NEW QUESTION 10
You are an HR specialist and want to add new values to a lookup. You have access to the specific work area, but are unable to perform the activity.
Identify the correct statement about this.

A. You can access the task for profile options from the Setup and Maintenance menu.

B. You cannot add new lookup codes and meanings to the existing lookup types.

C. You can create new lookup types but cannot modify the existing ones.

D. The system administrator must enable the lookup before it is modified in the work area.
E. Oracle applications contain certain predefined system lookups that are locked for editing.

Answer: E

NEW QUESTION 10

There are two legal employers identified for your current application implementation. The legal employers have inherited the number-generation method set at
enterprise level. However, there is a need to override the number-generation method at the legal employer level.

Which two options are correct? (Choose two.)

A. There are no condition

B. The worker generation method can be changed to automatic at any time.

C. The employment model selected should be one-tier.

D. No Employee or Contingent Worker work relationships should exist for that legal employer.
E. The employment model selected should be three-tier.

F. Manual worker-number generation for a legal employer can be selected at any time.

Answer: CE

NEW QUESTION 11

A candidate applied for an employment opportunity with a legal employer in the past. The candidate re-applies after some time for an opportunity with a different
legal employer in the same enterprise. While applying the

second time, the candidate provides a hew national identification value.

Which option does the application use to check if a matching record already exists in the system?

A. The application cannot identify the matching record and there will be two person records available for further processing.

B. The application identifies a match if the first name, the first character of the last name, and date of birth are the same; or if the last name, the first character of
the first name, and date of birth are the same.

C. Because the national identifier has changed, the system cannot identify the matching record.

D. The application searches for the availability of date of birth and middle name to identify the matching record.

Answer: B

NEW QUESTION 15

As an HR Administrator, you want to add an additional assignment for an existing worker. You access the worker's information via the Manage Employment task,
select Update, and enter an Effective Date, but you are unable to select the Add Assignment action from the Action field dropdown.

What is preventing you from selecting the action?

A. The employee has no active work relationships.

B. The employee has a suspended assignment.

C. Employment Model 2-Tier multiple assignments have not been enabled at the enterprise and/or the legal entity level.
D. The employee already has multiple assignments within that legal employer.
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Answer: B

NEW QUESTION 18

The line manager of an employee is also the HR manager for that employee. The Promotion approval rules state that a transaction should be approved by the line
manager followed by HR. If this employee receives a promotion, the approval will go to the manager twice. The customer requires that when approvers repeat in
the routing chain, only one approval notification should be triggered to such approvers.

What steps in Business Process Management (BPM) Worklist should you perform to meet this requirement?

A. Change the Task Aggregation configuration to Once Per Task.

B. Change the value of Complete task Immediately When Participant Chooses to Approve.
C. Select Allow Participants To Edit Future Participants.

D. Deselect Allow Participants To Edit Future Participants.

E. Select Allow All Participants To Route Task To Other Participants.

Answer: ABC

NEW QUESTION 22

A client’s organization employs disabled individuals. All these individuals are registered with an external organization that supports them. The client wants to
capture the registration details and some legislative information pertaining to their disabilities.

As an implementation consultant, how would you configure the system to capture this information?

A. Define disability organizations in the system and, while creating person records, enter any other descriptive or legislative information pertaining to disability.
B. Define a tax reporting unit for the group of employees with disabilities.

C. Define Reporting Establishment for the group of employees with disabilities and capture the requiredinformation.

D. Because the organization supporting the disabled employees is an external organization, information pertaining to this cannot be captured in the system.

Answer: A

NEW QUESTION 27

As the HR Administrator you have decided to configure position synchronization. However, when you enter a position on a worker’s assignment, all other fields
that you have, synchronize default into the assignment, except for the Grade.

What are two reasons for the Grade not defaulting? (Choose two.)

A. The position has no grades assigned to it.

B. The PER_ENFORCE_VALID_GRADES profile option is set to N.

C. The PER_DEFAULT_GRADE_JOB_POSITION profile option is set to N.
D. The position has more than one valid grade assigned.

Answer: AB

NEW QUESTION 30

Action Reasons provide further explanation for actions, for example, an action of transfer could have reasons such as reorganization or career progression. As a
developer, you have created Actions as part of Oracle Global Human Resources Cloud setup. Now you are in the process of adding Action Reasons.

Identify the three correct statements regarding Action Reasons. (Choose three.)

A. Action Reasons can be user defined.

B. Action Reasons are primarily used for analysis and reporting.

C. Worker termination predictions use Action and Action Reason to determine whether termination is voluntary or involuntary.
D. Action Reasons can be deleted if no longer being used.

Answer: ABC

NEW QUESTION 32
You are a human resource specialist and a workflow request is showing in your worklist notification even after you approved it (sent it to the second level
approver). What are three possible causes of this behavior? (Choose three.)

A. The second level approver might have approved the request.

B. The second level approver might have rejected the request.

C. The second level approver might have reassigned the request.

D. The second level approver might have executed a pushback on the request.
E. The second level approver might have opted for an adhoc route.

Answer: CDE

NEW QUESTION 37

You want to modify the look and behavior of the application through profile options. When you try to modify it, you are unable to perform the action. Which
statement is true regarding profile options?

A. You cannot modify the constituents of the existing profile options without saving them after creation.

B. You can modify the constituents of the existing profile options, but your manager must enable them for modification.

C. You can modify the constituents of the existing profile options, but the system administrator must enable them for modification.

D. You can modify the constituents of the existing profile options, but you must enable them for modification.

Answer: C

NEW QUESTION 39
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Identify the set enabled objects that are used for partitioning reference data.

A. department, location, jobs, grades

B. jobs, grades, salary plan, rates

C. legal entity, department, division, location

D. enterprise, legal entity, business unit, position

Answer: A

NEW QUESTION 44
Your company wants to track previous employment information for workers, including employer name, dates of employment, and job description. Which action
should you perform?

A. Create a free-form content type and a new content item.
B. Create a new content type and content item.

C. Use a seeded content type and a new content item.

D. Create a new content type but a seeded content item.
E. Create a free-form content type without a content item.

Answer: E

NEW QUESTION 49
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